

Name: - Ogunbarwo Oluwafayo Ikemi

Matric no: - 19/mhs01/295

Department: - MBBS

1.  $y = 2x^2$  at point  $(1, 2)$

solution

$$y = 2x^2$$

$$y = 4x$$

$$\frac{dy}{dx} = 4x$$

$$m = \frac{dy}{dx} \bigg|_{x=x_1}$$

$$m = \frac{dy}{dx} \bigg|_{x=1} = 4(1) = 4$$

$$m = 4$$

a.) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 2 - 4x + 4 = 0$$

$$y + 2 - 4x = 0$$

$$y - 4x + 2 = 0 \text{ or } y = 4x - 2$$

b.) Equation of the normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - 2 = -\frac{1}{4}(x - 1)$$

$$4(x - 2) = -1(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y - 8 - 1 + x = 0$$

$$4y + x - 9 = 0$$

2.)  $y = 3x^2 - 2x$  at point

$$y = 3x^2 - 2x$$

$$y = 6x - 2$$

$$\frac{dy}{dx} = 6x - 2$$

$$m = \frac{dy}{dx} \bigg|_{x=x_1}$$

$$m = \frac{dy}{dx} \bigg|_{x=2} = 3(2)^2 - 2 = 10$$

$$m = 10$$

a.) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y = 10x - 8 + 20 = 0$$

$$y - 10x + 12 = 0$$

b.) Equation of the normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$10(y - 8) = -x + 2$$

$$10y - 80 = -x + 2$$

$$10y + x - 80 - 2 = 0$$

$$10y + x - 82 = 0$$

$$3) y = x^3/2 \text{ at point } (-1, -1/2)$$

$$y = x^3/2$$

$$y = 3x^2/2$$

$$dy/dx = 3x^2/2$$

$$m = dy/dx \text{ at } x = x_1$$

$$m = dy/dx \text{ at } x = -1 = \frac{3(-1)^2}{2}$$

$$m = 3/2$$

a.) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-1/2) = 3/2(x - (-1))$$

$$y + 1/2 = 3/2(x + 1)$$

$$y + 1/2 = 3x/2 + 3/2$$

$$y + 1/2 - 3/2 = 3/2x$$

$$y - 1 = 3x/2$$

$$2(y - 1) = 3x$$

$$2y - 2 - 3x = 0$$

$$2y - 3x - 2 = 0$$

b.) Equation of the normal

$$y - y_1 = -1/m(x - x_1)$$

$$y - (-1/2) = -1/3/2(x - (-1))$$

$$y + 1/2 = -2/3(x + 1)$$

$$3(y + 1/2) = -2(x + 1)$$

$$3y + 3/2 = -2x - 2$$

$$3y + 2x + 3/2 + 2 = 0$$

$$3y + 2x + 7/2 = 0$$

$$4) y = 1 + x - x^2 \text{ at point } (-2, -5)$$

$$y = 1 + x - x^2$$

$$y = 1 - 2x$$

$$dy/dx = 1 - 2x$$

$$m = dy/dx \text{ at } x = x_1$$

$$m = dy/dx \text{ at } x = -2 = 1 - 2(-2) = 5$$

$$m = 5$$

a.) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x + 5 + 0 = 0$$

$$y - 5x - 10 = 0$$

b.) Equation of the normal

$$y - y_1 = -1/m(x - x_1)$$

$$y - (-5) = -1/5(x - (-2))$$

$$5(y + 5) = -1(x + 2)$$

$$5y + 10 = -x - 2$$

$$5y + 10 = -x - 2$$

$$5y - x + 10 + 2 = 0$$

$$5y - x + 12 = 0$$

5.)

5.) y

a.) equ

b.) equ



$$5) y = \frac{1}{x} \text{ at the point } (3, \frac{1}{3})$$

$$y = \frac{1}{x}$$

$$y = 1$$

$$m = 1$$

a) equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = 1(x - 3)$$

$$y - \frac{1}{3} = x - 3$$

$$y - \frac{1}{3} + 3 - x = 0$$

$$y - x + \frac{8}{3} = 0$$

b) equation of the normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{1}(x - 3)$$

$$y - \frac{1}{3} = -1(x - 3)$$

$$y - \frac{1}{3} = -x + 3$$

$$y - \frac{1}{3} - 3 + x = 0$$

$$y + x - \frac{10}{3} = 0$$